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大問 1 以下の英文を読み問に答えよ。 

Monkeypox is a viral zoonosis (a virus transmitted to humans from animals) with symptoms similar  A  those seen in the past in smallpox patients, 

although it is clinically less severe. With the eradication of smallpox in 1980 and subsequent cessation of smallpox vaccination, monkeypox has emerged 

as the most important orthopoxvirus for public health. ① aMonkeypox primarily occurs in central and west Africa, often in proximity to tropical 

rainforests, and has been increasingly appearing in urban areas. Animal hosts include a range of rodents and non-human primates. 

Monkeypox virus is an enveloped double-stranded DNA virus that belongs  B  the Orthopoxvirus genus of the Poxviridae family. bThere are two 

distinct genetic clades of the monkeypox virus: the central African (Congo Basin) clade and the west African clade. The Congo Basin clade has 

historically caused more severe disease and was thought to be more transmissible. The geographical division between the two clades has so far been in 

Cameroon, the only country where both virus clades have been found. （中略） 

Human monkeypox was first identified in humans in 1970 in the Democratic Republic of the Congo in a 9-month-old boy in a region  C  smallpox 

had been eliminated in 1968. ② Since then, most cases have been reported from rural, rainforest regions of the Congo Basin, particularly in the 

Democratic Republic of the Congo and human cases have increasingly been reported from across central and west Africa. （中略） 

Monkeypox is a disease of global public health importance as it not only affects countries in west and central Africa, but the rest of the world. ③ These 

pets had been housed with Gambian pouched rats and dormice that had been imported into the country from Ghana. （中略）cIn May 2022, multiple 

cases of monkeypox were identified in several non-endemic countries. Studies are currently underway to further understand the epidemiology, sources 

of infection, and transmission patterns.   

Animal-to-human (zoonotic) transmission can occur from direct contact with the blood, bodily fluids, or cutaneous or mucosal lesions of infected 

animals. （中略） dHuman-to-human transmission can result from close contact with respiratory secretions, skin lesions of an infected person or 

recently contaminated objects. Transmission via droplet respiratory particles usually requires prolonged face-to-face contact, which puts health workers, 

household members and other close contacts of active cases at greater risk. ④ However, the longest documented chain of transmission in a community 

has risen in recent years from 6 to 9 successive person-to-person infections. eThis may reflect declining immunity in all communities due to cessation 

of smallpox vaccination. Transmission can also occur via the placenta from mother to fetus (which can lead to congenital monkeypox) or during close 

contact during and after birth.  

monkeypox: サル痘 smallpox: 天然痘 eradication: 根絶 cessation:休止 proximity:近接 rodent:齧歯類 primate:霊長類  

endemic country:流行国  epidemiology : 疫学 lesion:傷 

出典 https://www.who.int/news-room/fact-sheets/detail/monkeypox 

問 1 下線部 a～e を和訳せよ。 

問 2 文章中の  A ～  C に入る適切な単語をそれぞれ書きなさい。 

問 3 次の英文がはいる箇所を文章中の①～④の中から一つ選びなさい。 

In 2003, the first monkeypox outbreak outside of Africa was in the United States of America and was linked to contact with infected pet prairie dogs. 
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大問 2 下記の文章を読み設問に答えよ。 

The different cell types in a multicellular organism differ dramatically in both structure and function. If we compare a mammalian 

neuron (A) a liver cell, for example, the differences are so extreme that it is difficult to imagine that the two cells contain the same 

genome. For this reason, and because cell differentiation often seemed irreversible, biologists originally suspected that genes might 

be selectively lost when a cell (B). We now know, however, that cell differentiation generally occurs without changes in the nucleotide 

sequence of a cell’s genome.                  （出典：Molecular Biology of The Cell） 

1) (A)に入る語句として適切なものに丸をつけよ。｛to, on, of, with｝（〇をつけよ。以下同様。） 

2) (B)に入る語句として適切なものに丸をつけよ。｛differentiates, different, differentiation, difference｝ 

3) 下線部を和訳せよ。 

 

 

問 2．下記の文章を読み設問に答えよ。 

Recent research (A) humankind’s ability to metabolise alcohol, by an enzyme called alcohol dehydrogenase, suggests that this ability 

was present 10 million years ago in gorillas, chimpanzees, and humans when they first (B) alcoholic fruit as a safe and consumable 

food (Dudley, 2004). Thus began our relationship with alcohol, which would in time become a safe and important for religious 

ceremonies.                         (出典：Whisky, Technology, Production, and Marketing) 

1) (A)に入る語句として適切なものに丸をつけよ。｛in, on, was, is｝  

2) (B)に入る語句として適切なものに丸をつけよ。｛identified, identity, identification, identify｝ 

3) 下線部を和訳せよ。 

 

 

問 3．下記を和訳せよ。 

The mammalian alcohol dehydrogenases (ADHs) are a family of enzymes that catalyze the oxidation and reduction of a wide variety 

of alcohols and aldehydes.                      (出典：Molecular Aspects of Alcohol and Nutrition) 

 

 

 

問 4．下記を英訳せよ。 

① 味噌(miso)から抽出したタンパク質を加水分解した。 

 

② もろみ(mash)より単離した酵母を GYP 培地で 24時間培養した。 

 

③ アルコール発酵においてはグルコースから二酸化炭素とエタノールが生成する 

 

 



大学院入学試験問題用紙 

2023 年度 1 期 

科  目  名 受 験 専 攻 受 験 番 号 氏    名 

生物化学 
醸造学   専攻 

 博士前期  課程 

  

大問 1 下記の文章を読み以下の問いに答えなさい 

うま味を付与するアミノ酸の一つである（ ① ）は微生物による発酵法によって製造される。当初は生育に重要なアミノ酸を細胞外

に分泌するはずはないと考えられていたが(a)、グラム陽性細菌(b)である Corynebacterium属細菌が（ ① ）を細胞外へ著量分泌するこ

とが見出されたことがきっかけで発酵法による製造が開始された。（ ① ）は生体内では解糖系(c)を経て TCA サイクルの中間体である

（ ② ）を還元的に（ ③ ）化することで生合成される。Corynebacterium属細菌は界面活性剤である Tween 40 の添加やビオチン(d)制

限によって（ ① ）の生産が誘導されることから細胞表層の構造が（ ① ）の生産に影響を及ぼすことが知られていた。近年では

（ ① ）を細胞外に排出するための担体（メカノセンシティブチャネル）によって分泌されることが明らかになっている。 

問 1 括弧①の化合物について名称と構造式を答えよ。 

問 2 下線部 a に関して、アミノ酸はなぜ生育に重要なのか理由を答えよ。 

問 3 下線部 b に関して、Corynebacterium属以外のグラム陽性細菌の属名を 2 つ答えよ。 

問 4 下線部 c に関して、解糖系では 3 つの不可逆反応が存在する。この不可逆反応を担う酵素名とその酵素によって生成される生成物

の名称をそれぞれ答えよ。 

問 5 下線部 c に関して、解糖系の反応中で酸化・還元反応を担う酵素名を 1 つ答えよ。 

問 6 括弧②と③に入るふさわしい単語を答えよ。 

問 7 下線部 d に関して、ビオチンの生体内での役割について答えよ。 

問 8 食品中に含まれる括弧①の化合物を定量するにはどうすればよいか、実験手法について原理とともに答えよ。 

 

名称 構造式

問2

問3 属名: 属名:

問5

②の単語 ③の単語

問7

問8

酵素名：

問6

問1

問4

酵素名：　　　　　　　　　　　　　　　　　　　　　生成物：

酵素名：　　　　　　　　　　　　　　　　　　　　　生成物：

酵素名：　　　　　　　　　　　　　　　　　　　　　生成物：
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大問 2．次の文を読んで、問１～問 10 に答えよ（解答は、解答欄に記入のこと）。 

 

ある（下線１）微生物の培養液から（下線２）菌体を集菌した。本菌体の（下線３）抽出液を調製したところ、タ

ンパク質濃度は 40 mg/mL であった。抽出液 20μL に含まれている酵素 A の活性を測定したところ、

最適条件下において 1分間当たり60 nmolの反応生成物が得られた（活性測定系の全反応液量0.5ｍL）。

但し、本酵素反応の反応様式は、次式で表されるものとする。 

                k1         k2 

E（酵素 A） ＋ S（基質）⇆ ES → E（酵素 A） ＋ P（反応生成物） （式） 

                             k1’ 

（注：k1、k1’、k2 は各反応の反応速度定数） 

 

 一般に、酵素反応の解析は、反応（初）速度によって行われる。本酵素反応の速度をｖとし、反応に

関与する物質の濃度をそれぞれ、[E]、[Ｓ]、[ES]および[P]で表すものとする。本酵素反応の律速段階

が、「酵素基質複合体」から反応生成物が生じる素反応であるとすれば、ｖ＝（a    ）（式１）と表

すことが出来る。 

また、この反応系に投入された全酵素濃度を[E]a とすると、酵素は触媒であり反応の前後でその量が

不変であることから、[E]a＝（b    ）（式２）と表される。さらに、酵素と基質との結合・解離は平

衡状態にあるので、その解離定数を Ks とすると、Ks＝（c    ）（式３）となる。 

 酵素反応を行う際に、実験者が設定することのできる物質量は[E]a および[S]であり、[E]や[ES]を定

量することは容易ではない。つまり（式１）は、そのままの形では現実的には使用することが出来ない。

そこで（式１）～（式３）を整理し、酵素反応速度ｖを表す実用的な式を組み立てる導き出す必要があ

る。その手順は、初めに（式３）から[ES]を表す式を作成する。これを（式２）に代入することで、[ES]

を実験者が設定することの出来る物質量のみで表すことが出来る。したがって、これを（式１）に代入

することで、ｖ ＝ （d   ）となる。右辺の分母・分子に[S]を乗じて式を整理すると、 

v ＝ （e    ）が得られる。本式の（f    ）が「最大反応速度（Vm）」に相当する。また、「酵

素と基質との親和性を評価する指標」は式中の（g    ）であり、（h      ）と呼ばれる。一

般に、酵素反応に用いる基質濃度が極めて低濃度である場合、反応（初）速度は基質濃度の増加に伴っ

て（i     ）に（j     ）。一方、基質濃度が高濃度である場合の反応（初）速度は、（k     ）

な状態となる。酵素反応における前述の「最大反応速度（Vm）」や「酵素と基質との親和性を評価する

指標」は、（下線４）基質濃度と反応（初）速度との関係を利用して求めることが出来る。 

 

（問題文・次頁に続く） 
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次の図は、同一の基質に対する 2 種の酵素についての反応の様相を示したものである。両酵素の反応

特性に関して、「最大反応速度（Vm）」および（h    ）の観点から考察すると（l    ）。 

 

 

なお、（h   ）の単位は（m    ）であり、その値は酵素濃度に依存（n    ）。また、 

（h   ）の値が大きい程、酵素と基質の親和性は（o    ）。一方、最大反応速度は酵素濃度に依存

（p    ）値である。 

 

問１．文中の（ a ）～（ g ）に入るもっとも適当な式や定数を記せ。。 

問 2．文中の（ h ）に入るもっとも適当な語句を記せ。 

問３．文中の（ i ）～（ k ）および（ m ）～（ p ）にあてはまる語としてもっとも適当

ものを、それぞれの選択肢から 1 つ選べ。 

[（ i ）および（ k ）の択肢] 

① 0 次関数的 ② 1 次関数的 ③ 幾何学的 ④ 級数的 ⑤ 指数的 ⑥ 対数的 ⑦定数的 

 

（問題文・次頁に続く） 
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[（ j ）の選択肢] 

① 増加する  ② 変動する  ③ 減少する  ④ 一定値となる  

[（ m ）の選択肢] 

① 濃度  ② 温度 ③ 時間 ④ 無次元（＝単位なし） 

[（ n ）および（ p ）の選択肢] 

① する  ② しない ③ する場合としない場合とがある 

[（ o ）の選択肢] 

① 高くなる  ② 不変である  ③ 低くなる  ④ 状況によって異なる 

 問４．（ l ）に入る説明文を作成せよ。 

問５．（下線 1）について、培養液中の微生物が糸状菌であるとした場合に、その菌体量を定量する方

法として適当なものを、次の①～⑤からすべて選べ。 

① 濁度法  ② （乾燥）重量法  ③ 平板培養によるコロニー計数法  

④  検鏡法   ⑤   菌体成分による法 

問６．（下線２）について、培養液中の微生物が糸状菌であるとした場合に、その集菌法として適当な

方法を２つ列記せよ。  

問７．（下線 3）の菌体抽出液 1mL に含まれる酵素 A の活性（U）はいくらか。 

問８．（下線 3）の菌体抽出液 1mL に含まれる酵素 A の比活性はいくらか。 

問９．抽出液中の酵素 A の精製を行うと、精製で得られる酵素 Aの「活性」および「比活性」はそれ

ぞれ問 7 および問 8 で求めた値と比較してどのように変化するか。もっとも適当な組み合わせ

を次の①～⑧から 1つ選べ。 

① （活性・比活性）＝ （大きくなる・大きくなる）            

② （活性・比活性）＝ （大きくなる・小さくなる） 

③ （活性・比活性）＝ （小さくなる・大きくなる） 

④ （活性・比活性）＝ （小さくなる・小さくなる） 

⑤ （活性・比活性）＝ （変わらない・大きくなる） 

⑥ （活性・比活性）＝ （大きくなる・変わらない） 

⑦ （活性・比活性）＝ （変わらない・小さくなる） 

⑧ （活性・比活性）＝ （小さくなる・変わらない） 

問 10．（下線 4）について、一般的に用いられている方法の名称を 1 つ記せ。 

 

 

 

 

 



大学院入学試験問題用紙 

2023 年度 1 期 

科  目  名 受 験 専 攻 受 験 番 

号 

氏    名 

生物化学 醸造学 専攻 

博士前期 課程 

  

１．の解答欄 

問１ a. 

 

b. 

c. 

 

d. 

e. 

 

f. 

g. 

 

 

問２ h. 

 

 

問３ i. 

 

j. 

k. 

 

 

m. 

 

n. 

o. 

 

p. 

問４ l について 

 

 

 

 

 

問５  

 

 

問６  

 

 

 

（解答用紙・次頁に続く） 

 

 



 

大学院入学試験問題用紙 

2023 年度 1 期 

科  目  名 受 験 専 攻 受 験 番 

号 

氏    名 

生物化学 醸造学 専攻 

博士前期 課程 

  

１．の解答欄（つづき） 

問７  

 

 

 

 

 

 

 

 

問８  

 

 

 

 

 

 

 

 

問９  

 

 

問 10  
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大問 1 以下の英文を読み問に答えよ。 

People depend on biodiversity in their daily lives, in ways that are not always apparent or appreciated. Human health ultimately depends upon 

ecosystem products and services (such  A  availability of fresh water, food and fuel sources) which are requisite for good human health and 

productive livelihoods. Biodiversity loss can have significant direct human health impacts if ecosystem services are no longer adequate to meet social 

needs. Indirectly, changes in ecosystem services affect livelihoods, income, local migration and, on occasion, may even cause  or exacerbate political 

conflict. aAdditionally, biological diversity of microorganisms, flora and fauna provides extensive benefits for biological, health, and pharmacological 

sciences. ① Loss in biodiversity may limit discovery of potential treatments for many diseases and health problems.（中略）Biodiversity plays a 

crucial  B  in human nutrition through its influence on world food production, as it ensures the sustainable productivity of soils and provides the 

genetic resources for all crops, livestock, and marine species harvested for food. Access to a sufficiency of a nutritious variety of food is a 

fundamental determinant of health.（中略）Traditional medicine continue to play an essential  B  in health care, especially in primary health care. 

bTraditional medicines are estimated to be used by 60% of the world’s population and in some countries are extensively incorporated into the public 

health system. ② Medicinal plant use is the most common medication tool in traditional medicine and complementary medicine worldwide. 

Medicinal plants are supplied through collection from wild populations and cultivation. Many communities rely  C  natural products collected from 

ecosystems for medicinal and cultural purposes, in addition to food. Although synthetic medicines are available for many purposes, the global need 

and demand for natural products persists for use as medicinal products and biomedical research that relies  C  plants, animals and microbes to 

understand human physiology and to understand and treat human diseases. cHuman activities are disturbing both the structure and functions of 

ecosystems and altering native biodiversity. dSuch disturbances reduce the abundance of some organisms, cause population growth in others, modify 

the interactions among organisms, and alter the interactions between organisms and their physical and chemical environments. ③ Patterns of 

infectious diseases are sensitive to these disturbances. Major processes affecting infectious disease reservoirs and transmission include, deforestation; 

land-use change; water management e.g. through dam construction, irrigation, uncontrolled urbanization or urban sprawl; resistance to pesticide 

chemicals used to control certain disease vectors; climate variability and change; migration and international travel and trade; and the accidental or 

intentional human introduction of pathogens. Biodiversity provides numerous ecosystem services that are crucial to human well-being at present and 

in the future. Climate is an integral part of ecosystem functioning and human health is impacted directly and indirectly by results of climatic 

conditions upon terrestrial and marine ecosystems. Marine biodiversity is affected by ocean acidification related to levels of carbon in the atmosphere. 

④ eTerrestrial biodiversity is influenced by climate variability, such as extreme weather events (ie drought, flooding) that directly influence 

ecosystem health and the productivity and availability of ecosystem goods and services for human use. Longer term changes in climate affect the 

viability and health of ecosystems, influencing shifts in the distribution of plants, pathogens, animals, and even human settlements. 

pharmacological: 薬理学の、terrestrial: 陸地の、drought: 干ばつ 

出典：WHO, Biodiversity and Health https://www.who.int/news-room/fact-sheets/detail/biodiversity-and-health 

問 1 下線部 a～eを和訳せよ。 

問 2 文章中の A ～ C に入る適切な単語を書きなさい。 

問 3 文章中の二重下線部の it が具体的に何を指すのか日本語で書きなさい。 

問 4 次の英文がはいる箇所を文章中の①～④の中から一つ選びなさい。 

Significant medical and pharmacological discoveries are made through greater understanding of the earth's biodiversity. 
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大問 2 

問 1 次の文章を読み設問 1)、2)に答えよ。 

Sake is a traditional alcoholic drink in Japan that is fermented from rice. It is made from rice, koji, and water. An 

overview of the procedure for making sake is shown in Fig. 1A. Briefly, koji is prepared by growing Aspergillus 

oryzae on steamed rice, and koji provides enzymes that break down protein and starch. Next, a fermentation starter 

(seed mash, or shubo in Japanese) that sufficiently（①）yeasts is prepared by mixing steamed rice, koji, and water (as 

well as lactic acid and cultured yeast in modern methods), and then the steamed rice, koji, and water are added to 

the seed mash three times over the course of 4 days to avoid diluting the density of the yeast. The final mixture 

(main mash, or moromi in Japanese) is usually fermented for 3 to 5 weeks. Finally, the main mash is separated（②）

sake and sake cake by a filter press. We can separate the types of seed mash into two categories based on the source 

of the lactic acid that they contain. In one type, lactic acid is added to the seed mash when the ingredients are mixed, 

and this is known as sokujo. In the other type, lactic acid is produced by lactic acid bacteria before alcohol 

fermentation, and this is known as kimoto style.  The process for making kimoto-style seed mash is the traditional 

method, and the sake made with kimoto-style seed mash is said to have unique characteristics of flavor and taste. 

The lactic acid inhibits the growth of undesirable microorganisms;（③）, it is important to grow lactic acid bacteria 

and produce lactic acid stably when preparing kimoto-style seed mash.  

（出典：Takahashi M. et al. Appl Environ Microbiol. 2021 Mar; 87(6): e02546-20.） 

1) 括弧①～③について適切な語句を下記から選べ。 

① propagate, propagates, propagation, being propagated 

② from, in, by, into 

③ however, finally, therefore, so far 

2) 下線英文を和訳せよ。 

 

 

 

 

 

問 2 次の文章を和訳せよ。 

The bacterial protein BlaR1 regulates resistance to β-lactam antibiotics in the multidrug-resistant bacteria, 

Staphylococcus aureus. Cryo-electron microscopy has revealed the detailed structures of BlaR1 in its resting state 

and in its β-lactam-bound activated state, illuminating possible routes to combating antibiotic resistance. 

（出典：Alexander J.A.N. et al. Nature, 2023 613, 375–382） 

 

 

 

 

 

 

 

問 3 次の和文を英訳せよ。 

① その試料を 15 分間ボルテックスミキサーで撹拌後、3,000rpm で 5 分間、遠心分離した。 

 

② DNA と RNA、タンパク質は、僅か 6 つの元素、水素、炭素、窒素、酸素、硫黄、リンから構成されている。 

 

③ 遺伝子の機能はその配列から予想することができる。 
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大問 1 次の文を読んで、問１～問６に答えよ。なお、解答は解答欄（2頁目以降）に記入の事。 

大腸菌を十分な栄養源を含む培地に植菌し 30℃で好気培養したところ、誘導期（培養開始から約 3時

間目まで）を経て指数増殖期に至った。ここで菌体は平均世代交代時間 40 分で増殖して各種タンパク

質を生産し、その後培養は定常期を経て、培養開始から約 24 時間で死滅期へと進行した。培養で得ら

れた大腸菌の DNAの平均分子量は 2.2×109であり、そのアデニン含有率は 24％であった。また、DNA全

体の 75％が特定のタンパク質に対する暗号であった。 

なお、「生産された各種タンパク質」、「デオキシヌクレオチド残基の相補対」および「アミノ酸」の平

均分子量は、それぞれ 6.0×104、6.1×102および 1.2×102であるとする。 

 

問１．大腸菌 DNAに含まれているグアニンの含有率（％）はいくらか。 

 

問２．DNAの遺伝情報からタンパク質が合成される過程の概要について説明せよ。 

 

問３．大腸菌 DNA の複製速度を 3-1 および 3-2 の手順で算出したい。 

 3-1 大腸菌の DNA に存在するヌクレオチド対の個数はいくらか。 

 3-2 対数増殖期における「ヌクレオチド間の結合」の生成速度（個/分）はいくらか。 

 

問４．培養により生産された「平均分子量 6.0×104のタンパク質」について、これを構成するポリペプ

チド鎖の種類数を、3-1 の算出結果を利用し 4-1 から 4-3 の手順で算出したい。ただし、１遺伝

子からは１分子のタンパク質（サブユニット）が生産されるものとする。 

4-1 大腸菌の DNA に含まれるアミノ酸をコードするコドンの個数はいくらか。 

4-2 大腸菌により生産されたタンパク質を構成するアミノ酸残基の平均個数はいくらか。 

 4-3 生産されたタンパク質を構成するポリペプチド鎖の種類数はいくらか。 

 

問５．死滅期においては、培養液中の菌体量が次第に減少することもある。これについて説明せよ。 

 

 

 

 

 

 

 

 

 

（注：解答用紙は次頁） 
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[解答用紙] 

問１． 

 

 

 

 

問２． 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（解答用紙は、次頁に続く） 
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[解答用紙のつづき] 

問３． 

 3-1 

 

 

 

 

 

 

 

 

 

 3-2 

 

 

 

 

 

 

 

 

 

 

問４． 

 4-1 

 

 

 

 

 

 

 

 

 

（解答用紙は、次頁に続く） 
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[解答用紙のつづき] 

 4-2 

 

 

 

 

 

 

 

 

 

4-3 

 

 

 

 

 

 

 

 

 

問５． 
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大問 2 

問 1 下記の文章を読み以下の問いに答えなさい。（解答欄が足りない場合は裏面を使用） 

a大腸菌は b酸素があってもなくても増殖することが可能な真正細菌である。グルコースを含む培地で大腸菌を嫌気的に培養した場合、

グルコースは解糖系の最終産物である（①）へと変換された後に、エタノール、cギ酸、酢酸、乳酸等へと変換される。一方、大腸菌を

好気的に培養した場合、グルコースは解糖系に引き続き TCA サイクルにて代謝されその多くの生成物は（②）となる。dTCA サイクル

中の酸化還元反応にて生じた電子は電子伝達系にて有機化合物である（③）に集約された後、複合体 III へと伝達される。複合体 III か

ら複合体 IV へはタンパク質である（④）を介して電子が伝達され、電子伝達系で生じた（⑤）勾配を利用し ATP 合成酵素により ATP

が合成される。大腸菌における電子伝達系の場は細胞膜であるが、真核生物ではミトコンドリアの（⑥）である。 

(1) 下線部 a に関して、大腸菌の学名（属名と種名）を答えよ。 

(2) 下線部 b に関して、この様な菌の性質を何というか名称を答えよ。 

(3) 括弧①～⑥に入るふさわしい語句の名称を答えよ。 

(4) 下線部 c に関して、それぞれの化合物の構造式を答えよ。また、これらの化合物に共通する官能基の名称を答えよ。 

(5) 下線部 d に関して、TCA サイクルで酸化還元反応を担う酵素の名称を全て答えよ。 

(6) 嫌気的な代謝と好気的な代謝で ATP 生成量にどの様な違いがあるか具体的に説明せよ。 

(7) ATP は生体のエネルギー通貨と呼ばれる重要な化合物であり様々な反応を進行させる。生体内で ATP を必要とする化学反応を一つ

例にとり、その化学反応式を答えよ。 

 

問 2 以下の語句の中から任意に 2 つ選び、その語句について簡潔に説明せよ。（解答欄が足りない場合は裏面を使用） 

（PCR、アガロースゲル電気泳動、水分活性、HPLC、GC、活性汚泥、生酛系酒母における微生物の消長） 

語句： 

語句： 

① ② ③ ④

⑤ ⑥

ギ酸 酢酸 乳酸 官能基

　　基

(5)

(6)

(7)

(2)(1)

→

(3)

(4)


